QUICK COVER Decimals 1

Task 1: Addition — 1 decimal place
Task 2 : Subtraction — 1 decimal place
Task 3: Addition and Subtraction — 2 decimal places

Task 4 : Addition and Subtraction — 1 & 2 decimal places

Puzzle : Mixture of Tasks 1 to 4
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H6|P and Hints...... Decimals 1
TASK 1 Make sure you line’ the TASK 2
56 + 37 decimadl points up and 82 -37
5. keep the digits in the g 1y
3 . T 4+ correct columns 3 7-
9.3 4 5
1
TASK 3 Fill in any ‘'spaces’ with
028 + 272 zeros before you star
.2 8 TASK
272"' 79 - 454 .
9 00 T . 710
1 1 4.5 4 -

3.2 0
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Decimals (1)

TASK 1

1. 51+6.6=
2. 87+59=
3. 6.1+99=
4. 88+9.8=
5. 33+38=
6. 7.2+33=
7. 79+45=
8 68+43=
9. 74+38=
10. 59+11=
11. 49+48=
12. 7.6+99=
13. 5.7+75=
14. 7.7+46=
15. 1.2+54-=

TASK 2

1. 81-35=
2. 7.6-44=
3. 22-17=
4. 36-11=
5. 87-25=
6. 3.6-29=
7. 21-11-=
8. 87-66=
9. 46-16=
10. 42-3.4=
11. 75-25=
12, 83-19=
13. 7.7-65=
14. 28-13=

15. 3.6-2.6=

TASK 3

1. 18.03+4.46=
2. 1936+5.36=
3. 15.66-7.38=
4. 20.09-6.01=
5. 11.43+7.98=
6. 11.61-7.36=
7. 10.87+1.13=
8. 14.89-3.62=
9. 9.39-6.77=
10. 8.15-1.23=
11. 13.22+3.11=
12. 12.74-11.97 =
13. 12.87-7.98 =
14. 20.34-1.01=

15. 15.77+4.01=

TASK 4

1. 18.46-59=
2. 1564-6.1=
3. 201+81=
4. 13.77-8.1=
5. 10.7-2.23=
6. 42+1.68=
7. 111-44-=
8. 1941-14-=
9. 6.39+15=
10. 1.11+3.6=
11. 4.7+3.53=
12. 18.1-8091=
13. 5.88+6.1=

14. 19.41-10.1=

15. 59+4.25=
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Decimals (2)

ANSWERS

TASK 1 TASK 2 TASK 3 TASK 4
1. 11.7 1. 4.6 1. 22.49 1. 12.56
2. 146 2. 3.2 2. 24.72 2. 9.54
3. 16 3. 05 3. 8.28 3. 10.11
4. 18.6 4. 25 4. 14.08 4. 5.67
5. 7.1 5. 6.2 5. 1941 5. 8.47
6. 10.5 6. 0.7 6. 4.25 6. 5388
7. 124 7. 1 7. 12 7. 6.7

8 111 8. 21 8. 11.27 8. 18.01
9. 11.2 9. 3 9. 2.62 9. 7.89
10. 7 10. 0.8 10. 6.92 10. 4.71
11. 9.7 11. 5 11. 16.33 11. 8.23
12. 175 12. 6.4 12. 0.77 12. 9.19
13. 13.2 13. 1.2 13. 4.89 13. 11.98
14. 123 14. 1.5 14. 19.33 14. 931
15. 6.6 15. 1 15. 19.78 15. 10.15
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